ITEMS REQUIRING BOCC APPROVAL August 1, 2024 (5 Items)

1. LABORATORY AND SAFETY SUPPLIES -- VARIOUS DEPARTMENTS FUNDING - VARIOUS DEPARTMENTS

(Joint Governmental Purchase - State of Kansas Contract #55510)

#24-2055 Contract

	Fisher Scientific Company, LLC
Laboratory and Safety Supplies	Pricing listed on above State of Kansas Contract

On the recommendation of Britt Rosencutter, on behalf of various departments, Greg Gann moved to utilize the State of Kansas Contract #55510 with Fisher Scientific Company, LLC good through December 31, 2028. Brandi Baily seconded the motion. The motion passed unanimously.

The Regional Forensic Science Center (RFSC) in their efforts to support molecular genetic analysis (DNA profiling) purchase consumables including supplies and reagents that are required to operate analytical instrumentation and repair/preventative maintenance agreements for critical instrumentation used in the DNA typing process. It also includes the proprietary chemistry kits that have been developed and validated in accordance with the Federal Bureau of Investigation Quality Assurance Standards (FBIQAS), the Scientific Working Group for DNA Analysis Methods (SWGDAM), and the Validation Guidelines for Forensic DNA Analysis Methods. Compliance with these standards is essential for maintaining laboratory accreditation.

One of the larger expenses incurred by the DNA section is the chemistry required to develop DNA profiles. In particular, the GlobalfilerTM kit is used to develop DNA profiles from crime scene samples, as well as from victims/suspects. The profiles can then be compared and a determination made about who may (or may not) have deposited biological material at a crime scene. The State of Kansas contract pricing is not limited to items purchased for DNA testing; thus, all forensic laboratory sections will be eligible for contract pricing for required supplies.

Notes:

The annual spend for 2022 was Fisher Scientific - \$43,105.54 and LifeTech - \$137,811.00 = \$180,916.54. The annual spend for 2023 was Fisher Scientific - \$97,188.31 and LifeTech - \$94,759.52 = \$191,947.83.

To view contract and discount list copy and paste the below link into your browser:

https://supplier.sok.ks.gov/psp/sokfsprdsup/SUPPLIER/ERP/c/KS_SUPPLIER_MENU.KS_PROCR_CNTRCT.GBL

In the keyword search field type FISHER and view attachment for contract number ending in 55510. Instructions for viewing XML files may be found in the top center tile of this page:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ERP/c/NUI FRAMEWORK.PT LANDINGPAGE.GBL?&

Please note recommendation line should have been read as 12/31/2028.

2. AGILENT TECHNOLOGIES - GAS CHROMATOGRAPH MASS SPECTROMETRY SYSTEM (GC-MS) -REGIONAL FORENSIC SCIENCE CENTER (RFSC) FUNDING -- OD2A LOCAL - COMPONENT B

(Single Source)

#24-2056 S/C #Pending

	Agilent Technologies	
	Item Price	
Agilent 8890 Gas Chromatograph System	\$33,879.00	
5977C EI MSD Bundle	\$90,889.00	
Spare Inert Ion Source Assembly	\$4,731.00	
7693A Autoinjector	\$11,100.00	
7693 Tray	\$13,056.00	
GCMS 5977 Turbo System Crosslab Silver 3 year	\$31,980.00	
Special Discount	-\$63,414.00	
Estimated Freight Charge	\$3,000.00	
Total	\$125,221.00	

On the recommendation of Britt Rosencutter, on behalf of the Regional Forensic Science Center, Tim Myers moved to accept the quote from Agilent Technologies in the amount of \$125,221.00. Greg Gann seconded the motion. The motion passed unanimously.

The GC-MS system is an essential tool for modern analysis of pharmaceuticals including screening for basic drugs and drug metabolites. The RFSC received Centers for Disease Control (CDC) Overdose Data to Action (OD2A) grant funding to expedite real-time drug analysis and to assist with modernization of drug testing instrumentation.

This instrumentation is used for the positive identification of illicit drugs and is the key instrumentation needed to process the 1000+ backlogged cases awaiting testing due to the fentanyl crisis. This will assist in the prosecution of cases and prevent distribution of dangerous and deadly drugs in the region.

This new GC-MS system will be an updated model of the current system that the laboratory is utilizing. The new system requires the same consumables which are currently being purchased by the laboratory. All methods analyzed by the current systems can be moved to the new system since they utilize the same software. All qualified forensic scientists are trained on these systems and software which will expedite method validation on the new system and reduce the impact on turnaround time for ongoing casework analysis.

3. EIGHT (8) LARGE OR MID-SIZE INTERMEDIATE 4-DOOR SEDANS -- FLEET MANAGEMENT / SHERIFF'S OFFICE FUNDING -- 2025 CHEVROLET MALIBU

(Request sent to 96 vendors)

RFB #24-0045 S/C #8000237121

		CDJR Automotive LLC dba Mainstreet of Lansing		
Description	Qty.	Unit Cost	Extended Price	
Eight (8) Large or Mid-Size Intermediate 4-Door Sedans	8	\$39,451.00	\$315,608.00	
Make and Model:		Dodge 1	Durango	
Order Cutoff Date:		N	/A	
Delivery Date:		N/A		
		Don Hatta	n Chevrolet	
Description	Qty.	Unit Cost	Extended Price	
Eight (8) Large or Mid-Size Intermediate 4-Door Sedans	8	\$23,450.00	\$187,600.00	
Make and Model:		2025 Chevy	Malibu 1FL	
Order Cutoff Date:		7/30/	/2024	
Delivery Date:		60-90 days		
		Eagle Express Distribution LLC		
Description	Qty.	Unit Cost	Extended Price	
Eight (8) Large or Mid-Size Intermediate 4-Door Sedans 8		\$34,995.00	\$279,960.00	
Make and Model:		Honda Accord		
Order Cutoff Date:		9/1/2024		
Delivery Date:		Within 21 days		
		Whiteside of St. Clairsville, Inc.		
Description	Qty.	Unit Cost	Extended Price	
Eight (8) Large or Mid-Size Intermediate 4-Door Sedans 8		\$29,000.00	\$232,000.00	
Make and Model:		Chevy Malibu		
Order Cutoff Date:		7/23/2024		
Delivery Date:		Estimated Q4 2024		
No Bid	·	Davis-Moore Automotive	Hatchett Hyundai East	
No Did		Master Tech Truck & Equipment LLC	Masters Transportation	

On the recommendation of Britt Rosencutter, on behalf of Fleet Management and the Sheriff's Office, Greg Gann moved to accept the low bid from Don Hattan Chevrolet in the amount of \$187,600.00. Brandi Baily seconded the motion. The motion passed 4 to 5 with Tim Myers abstaining from the vote.

These vehicles will be used by Sheriff's Office Investigation personnel for their everyday tasks. Fleet Management will equip these vehicles with lights and sirens.

Notes:

Fleet Management evaluates all vehicles and equipment up for replacement before requesting bids.

Vehicle #	Year	Make & Model	VIN #	Points	Mileage
4035	2009	Ford Escape	1FMCU49319KC39141	11.2	83,319 - Total hybrid battery failure
3740	2009	Chevrolet Impala	2G1WB57K791307863	18.4	125,063
3745	2009	Chevrolet Impala	2G1WB57KX91306917	18.7	109,733
3793	2010	Chevrolet Impala	2G1WA5EKOA1231459	19.5	158,099
3794	2010	Chevrolet Impala	2G1WA5EK2A1232032	20	156,851
3795	2010	Chevrolet Impala	2G1WA5EKXA1229590	17.5	139,342
3766	2010	Dodge Charger	2B3CA3CV6AH125456	17.6	165,199
3765	2010	Dodge Charger	2B3CA3CV8AH125457	17.8	149,970

These are replacement vehicles. Surplus will be sold at auction.

Questions and Answers

Greg Gann: I see that a lot of the mileage of the vehicles being replaced is quite high. Is that just an excellent use of the vehicles, getting as much value out of them as we can?

Beau Bergeron: Yeah. I mean they're all over 14 years old. Usually we try to replace them at 10 years but due to shortages on everything else, we're behind. Some of them have lower miles but higher points. Because they're problematic, we spend a lot of money trying to keep them going.

4. THREE (3) CURRENT MODEL VOYAGER OR CARAVAN MINI VANS -- FLEET MANAGEMENT / SHERIFF'S OFFICE FUNDING -- 2025 PACIFICA

(Request sent to 96 vendors)

RFB #24-0047 S/C #8000237117

		Eagle Express Distribution LLC		
Description	Qty.	Unit Cost	Extended Price	
Three (3) Current Model Voyager or Caravan Mini Vans	3	\$44,898.00	\$134,694.00	
Make and Model:		Honda Odyssey		
Order Cutoff Date:		10/1/2024		
Delivery Date:		Within	21 days	
		Parks	Motors	
Description	Qty.	Unit Cost	Extended Price	
Three (3) Current Model Voyager or Caravan Mini Vans 3		\$42,751.00	\$128,253.00	
Make and Model:		2025 Pacifica		
Order Cutoff Date:		N/A		
Delivery Date:	ry Date:		90-160 days	
		Whiteside of St. Clairsville, Inc.		
Description	Qty.	Unit Cost	Extended Price	
Three (3) Current Model Voyager or Caravan Mini Vans 3		\$62,920.00	\$188,760.00	
Make and Model:		Chevrolet Express Full Size		
Order Cutoff Date:		TBA		
Delivery Date:		Estimated Q1 2025		
No Bid		Davis-Moore Automotive	Master Tech Truck & Equipment LLC	
No Diu		Masters Transportation	Midway Motors of Hutchinson (Chevy)	

On the recommendation of Britt Rosencutter, on behalf of Fleet Management and the Sheriff's Office, Joni Wilson moved to accept the low bid from Parks Motors in the amount of \$128,253.00. Brandi Baily seconded the motion. The motion passed 4 to 5 with Tim Myers abstaining from the vote.

These vehicles are primarily used for inmate transportation for medical appointments and extradition.

Notes:

Fleet Management evaluates all vehicles and equipment to be replaced before requesting bids.

Vehicle #	Year	Make & Model	<u>VIN #</u>	<u>Points</u>	<u>Mileage</u>
3736	2009	Chevrolet Impala	2G1WB57K691306736	15.2	100,313
3752	2009	Chevrolet Impala	2G1WB57K191308426	16.6	157,850
4019	2009	Chevrolet Impala	2G1WB55K069366477	20	158,545

These are replacement vehicles. Surplus will be sold via auction.

Questions and Answers

Brandi Baily: We're replacing Chevy Impalas to a minivan. Is there a reason we're going to a bigger vehicle?

Beau Bergeron: They do not make prisoner partitions for sedans anymore. There's like two (2) models that do and they are way out of our price range, and for the amount that they go for, minivans are much easier than small sedans.

Russell Leeds: Again, these appear to be about 15 years old and high mileage and had lots of wear and tear.

5. TWO (2) POLICE PACKAGE AWD DURANGO PURSUIT VEHICLES – FLEET MANAGEMENT / SHERIFF'S OFFICE $\frac{\text{FUNDING} - 2025 \text{ DURANGO PURSUIT}}{\text{FUNDING}}$

(Request sent to 96 vendors)

RFB #24-0048 S/C #8000237119

		CDJR Automotive LLC dba Mainstreet of Lansing		
Description	Qty.	Unit Cost	Extended Price	
Two (2) Police Package AWD Durango Pursuit Vehicles	2	\$42,164.00	\$84,328.00	
Make and Model:		Dodge Durango		
Order Cutoff Date:		N	/A	
Delivery Date:		N	/A	
		Davis-Moore	e Automotive	
Description	Qty.	Unit Cost	Extended Price	
Two (2) Police Package AWD Durango Pursuit Vehicles	2	\$40,347.00	\$80,694.00	
Make and Model:		2025 Dodg	ge Durango	
Order Cutoff Date:		N	/A	
Delivery Date:		Approximat	e 4-5 months	
		Eagle Express I	Distribution LLC	
Description	Qty.	Unit Cost	Extended Price	
Two (2) Police Package AWD Durango Pursuit Vehicles	2	\$55,995.00	\$111,990.00	
Make and Model:		Dodge Durango		
Order Cutoff Date:		9/1/2024		
Delivery Date:		Within 21 days		
		Parks Motors		
Description	Qty.	Unit Cost	Extended Price	
Two (2) Police Package AWD Durango Pursuit Vehicles	2	\$42,005.00	\$84,010.00	
Make and Model:		Dodge Durango		
Order Cutoff Date:		N/A		
Delivery Date:		In stock		
		Whiteside of St. Clairsville, Inc.		
Description	Qty.	Unit Cost	Extended Price	
Two (2) Police Package AWD Durango Pursuit Vehicles	2	\$57,840.00	\$115,680.00	
Make and Model: Chevy Tahoe 4WD				
Order Cutoff Date: TBA				
Delivery Date: Estimated Q2 2025			d Q2 2025	
No Bid		Master Tech Truck and Equipment LLC	Masters Transportation	

On the recommendation of Britt Rosencutter, on behalf of Fleet Management and the Sheriff's Office, Greg Gann moved to **accept the low bid from Davis-Moore Automotive** in **the amount of \$80,694.00.** Joni Wilson seconded the motion. The motion passed 4 to 5 with Tim Myers abstaining from the vote.

These vehicles will replace the current vans being used by the Sheriff's Office Crime Scene Investigation (CSI) unit.

Notes

Fleet Management evaluates all vehicles and equipment up for replacement before requesting bids.

Vehicle #	Year	Make & Model	VIN #	<u>Points</u>	Mileage
3517	2011	Ford E250	1FTNE2EW6BDA31636	18.4	114,329
3763	2009	Ford E150	1FTNE24L99DA57486	20	132,023

These are replacement vehicles. Surplus will be sold via auction.

Questions and Answers

Russell Leeds: I know that the Sheriff and Fleet have already vetted this, but I assume if we're moving CSI from vans to cars, that we know that they can carry the equipment they need to do their job and comfortable doing this. Right?

Beau Bergeron: Yes.